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Instructions : (1) As per the instruction no. 1 of page no. 1.

(b)
©

(d)

(e)
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ENGLISH VERSION

(2) Question 1 is compulsory.

(3) Answer total four questions including Question

no. 1.
(4) Show all necessary calculations.

Which method of costing is best suitable for following

industries :

(1) Printing industries

(2) Textile industries

(3) Radio and T.V. industries

(4) Brick manufacturing industries.

What 1s cost centre ? Give two examples.

From the following details, find out purchases :
Opening Stock Rs. 50,000

Average Stock Rs. 70,000

Materials turnover - 2 times.

Monthly overheads of a factory is

Rs. 1,20,000, 30 workers worked for 25 days in a month
for daily 8 hours.

What shall be the labour hour rate ?

The information for production of a factory is as under :

Direct materials 15% of selling price

Direct labour 25% of selling price

Factory overheads 25% of prime cost

Office overheads 40% of factory cost

Profit (Rs. 1500 per unit) 20% of selling price.
Calculate selling overheads from the details given.

Arni Company gives following informations to decide
purchases of materials :

Annual usage 600 units, Expenses of placing an order
Rs. 400, Carrying cost 40%, Cost per unit Rs. 15.
10% Discount on purchase if an order is of 500
Quantity.

In what quantity of units company should purchase in
economic order quantity or in quantity of 500 units ?
Give opinion.

o
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(b) The following information in respects of Bhairav 6

Co. Limited find out :

(1) Inventory turnover rate for the year 2012-13.
(2) The opening stock for the year 2013-14.

Rate of gross profit is 33%%. On the cost closing stock

is 12.5% of purchases.

Year 2012-13 2013-14
Rs. Rs.
Sales 4,50,000 7,50,000
Opening Stock 75,000 ?
Purchases 3,00,000 —
OR
2  The following figures relate to overheads charges of a 13

factory for the month of March 2011. You are requested to

compute a machine hour rate in respect machine A works

for 100 hours in a month.

Overhead expenses Rs.
(1) Rent and Rates.......c..cccooovveeiiiiiineeniinnnnn. 3,600
2) Lighting .......cccooovviieeeiiiiieeee e, 2,000
(3) Depreciation Annual .........................o... 36%
(4) Indirect Wages .......cccoooeviiiiiiiiieeeeeeeeeee, 1,000
(5) Miscellaneous expenses ..........cccceeeeeeee... 1,500
(6) Canteen exXpenses..........ccccceeeeeeeeueeeeeennnn. 2,000
(7)) Repairs......ccoooooeueiiieieeee e 4,000
The other additional information are as under :
Particulars Machine | Machine | Machine

A B C
Area occupied (Sq. ft) 10 20 30
Light points 1 3 6
Value of machine Rs. 25,000 15,000 10,000
Number of workers 2 4 4
Direct wages Rs. 2,000 3,000 5,000
Power charges Rs. 250 150 200
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3 In respect of a factory the following particulars have 13
been extracted for the year 2013 :

Rs.
Cost of materialS......ccccoveveuneeeeeeiaeneen. 60,000
Wages ..o 50,000
Factory overheads ................................ 30,000
Administration charges........................ 33,600
Selling charges ..........cccoooooviiiiiieeeee.... 22,400
Distribution charges............................. 14,000
Profit oo 42,000

A work-order has to be executed in 2014 and the estimated
expenses are materials Rs. 8,000 and Wages Rs. 5,000.

Assuming that in 2014 :

(1) The rate of factory overheads has gone up by 20%.

(2) Dastribution charges have gone down by 10%.

(3) Selling and administration charges have gone each up
by 12.5%

At what price should the product be sold so as to earn the

same rate of profit on selling price 2013.

For that, prepare

(1) Cost statement for 2013.

(2) Tender statement for 2014.

OR

3 The profit as per cost accounts is Rs. 1,65,300 of ‘H’ 13
Limited. The following details are ascertained after the
comparison of the cost and financial accounts :

Particulars Cost Financial
Accounts Accounts
Rs. Rs.
(1) Opening stock
Materials 32,600 33,000
Works in progress 20,000 21,000
(2) Closing stock
Materials 36,000 34,400
Works in progress 16,000 15,200
Finished goods 8,000 9,000

A-2677] 7 [ Contd...



®3)

(4)

(5)

(6)

Director's fee is Rs. 1,000, Interest paid Rs. 800,
Reserve for bad-debts Rs. 500 and Share transfer fees
collected Rs. 300, Dividend received at Rs. 200 are
taken into the only financial accounts.

Rent is charged in costing but not in financial accounts
Rs. 6,000.

Preliminary expenses written off Rs. 13,000 not charged

into cost accounting.

Overheads charged to financial books Rs. 1,21,200
recovered in costing Rs. 1,26,200.

Find out profit as per Financial Accounts by prepare a

Reconciliation Statement.

4 (a)
(b)
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Write short notes on : (any two) 10
(1) Materials Turnover Rate

(2) A Statement of Costing

(3) Elements of Costing

(49) Limitation of Cost Accounts.

Explain difference : (any one) 4
(1) Direct and Indirect overheads expenses
(2) FIFO and LIFO methods.

8 [ 6,300 ]



